Project	ect IEEE 802.16 Broadband Wireless Access Working Group http://ieee802.org/16						
Title	Corrections in the OFDM CTC definition						
Date Submitted	2005-03-11						
Source(s)	Brian Edmonston iCODING Technology Inc. 11770 Bernardo Plaza Ct, 466 San Diego,CA	Voice:858-487-5595 brian@icoding.com					
	John Benko, Marie-Helene Hamon France Telecom Research & Development 801 Gateway Blvd. Suite 500 South San Francisco, CA 94080	Voice: +1-650-875-1593 Fax: +1-650-875-1505 John.Benko@francetelecom.com, mhelene.hamon@francetelecom.com					
Re:	IEEE 802.16maint-04/10 (12-21-04)						
Abstract	A number of modifications are presented that either clarify text or correct some errors.						
Purpose	To incorporate the given tables in this contribution into IEEE 802.16maint-04/10 (12-21-04)						
Notice	This document has been prepared to assist IEEE 802.16. It is offered as a basis for discussion and is not binding on the contributing individual(s) or organization(s). The material in this document is subject to change in form and content after further study. The contributor(s) reserve(s) the right to add, amend or withdraw material contained herein.						
Release	The contributor grants a free, irrevocable license to the IEEE to incorporate material contained in this contribution, and any modifications thereof, in the creation of an IEEE Standards publication; to copyright in the IEEE's name any IEEE Standards publication even though it may include portions of this contribution; and at the IEEE's sole discretion to permit others to reproduce in whole or in part the resulting IEEE Standards publication. The contributor also acknowledges and accepts that this contribution may be made public by IEEE 802.16.						
Patent Policy and Procedures	The contributor is familiar with the IEEE 802.16 Pater < <u>http://ieee802.org/16/ipr/patents/policy.html></u> , include use of patent(s), including patent applications, provided applicant with respect to patents essential for compliant standard." Early disclosure to the Working Group of p essential to reduce the possibility for delays in the deve publication will be approved for publication. Please no possible, in written or electronic form, if patented tech	nt Policy and Procedures ling the statement "IEEE standards may include the known d the IEEE receives assurance from the patent holder or nee with both mandatory and optional portions of the atent information that might be relevant to the standard is elopment process and increase the likelihood that the draft otify the Chair <mailto:chair@wirelessman.org> as early as mology (or technology under patent application) might be nin the IEEE 802.16 Working Group. The Chair will disclose</mailto:chair@wirelessman.org>					

Corrections in the OFDM CTC definition

Brian Edmonston - iCoding John Benko, Marie-Helene Hamon - France Telecom Research & Development

Motivation

A few errors and inconsistencies exist in the OFDM Convolutional Turbo Code (CTC). Here we present a number of modifications that clarify text and correct some errors.

Section 8.3.3.2.3.1

Modification 1:

The first paragraph of section 8.3.3.2.3.1 should be modified as follows (additions underlined):

The bits of the data to be encoded are alternately fed to A and B, starting with the <u>LSB MSB</u> of the first byte being fed to A. The encoder is fed by blocks of k bits of N couples (k=2*N bits). For all the frame sizes k is a multiple of 8 and N is a multiple of 4. N shall be limited to: 32 < N < 4096.8 = < N/4 <= 1024 For subchannelization mode, the coding block size is limited to blocks at least 48 <u>couples (96 bits)</u> in length, and no more than <u>512</u> couples (1024 bits) in length. In addition, k cannot be a multiple of 7.

Comment:

The original text specified N/4 must be between 8 and 1024. This definition is difficult to read (which probably led to the error discussed below) and we proposed changing it to 32 = < N <= 4096.

Once it is clear that N must be between 32 and 4096, we see that the next rule that allows the coding bock to be as small as 48 bits (which corresponds to N < 24) violates the first rule. Thus we submit that the block size should be limited to 48 couples, which corresponds to 96 bits.

Modification 2:

Table 220 should be updated as follows:

Ν	k	R	Modulation	Encoded	Encoded	NSub	P0
				Couples	Bits	S	
48	96	1/2	QPSK	96	192	<= 8	7
64	128	2/3	QPSK	96	192	<= 8	11
72	144	3/4	QPSK	96	192	<= 8	17
96	192	1/2	QPSK	192	384	16	7
128	256	2/3	QPSK	192	384	16	11
144	288	3/4	QPSK	288	576	16	17
48	96	1/2	16QAM	96	192	<= 4	<mark>11</mark> 7
72	144	3/4	16QAM	96	192	<= 4	<mark>13</mark> 17
96	192	1/2	16QAM	192	384	8	<mark>11</mark> 7
144	288	3/4	16QAM	288	576	8	<mark>13</mark> 17
192	384	1/2	16QAM	384	768	16	11
288	576	3/4	16QAM	384	768	16	13
64	128	2/3	64QAM	96	192	<= 2	17 11
72	144	3/4	64QAM	96	192	<= 2	17
128	256	2/3	64QAM	192	384	4	17 11
144	288	3/4	64QAM	192	384	4	17
256	512	2/3	64QAM	384	768	8	17
288	576	3/4	64QAM	384	768	8	17 13
384	768	2/3	64QAM	576	1152	16	17
432	864	3/4	64QAM	576	1152	16	17

Comment:

Certain frame sizes were added implicitly with the extension of the Turbo Code frame sizes to support subchannelization. In some cases, these frame sizes duplicated frame sizes already defined in other modulation-scheme-code-rate combinations, but defined different P0 values. The interleaver parameters should be identical for the same frame size regardless of modulation schemes. The updated table preserves the interleaver for the same frame size.

Additionally, the updated table makes the total set of supported frame sizes more clear by calling them out specifically, rather than defining them implicitly based on the Nsub parameters.

Finally, the addition of the subchannelization frame sizes introduced a frame size (N=72) that is not supported using the OFDM interleaver definition. Unique P1, P2 and P3 parameters must be defined for N=72. (See additional edit below.)

Modification 3:

Last paragraph of Section 8.3.3.2.3.1 (right below Table 220) should be modified as follows:

In Table 220, Nsub denotes the number of subchannels of the allocation in which the encoded data will be transmitted. The data block sizes (in bytes per OFDM symbol) may be calculated as N/4. Further, P1 = 3N/4, P2 = N/4 and P3 = N/2 except in the case of N=72 where P1=74, P2=72 and P3 = 2;

Comment:

This just corrects an error introduces by the subchannelization frame size extension.

Modification 4:

Section 8.3.3.2.3.2: CTC Interleaver

Step 2 should be modified as follows:

case 0: $i = (P0*j + 1) \mod N$ case 1: $i = (P0*j + N/2 + 1+P1) \mod N$ case 2: $i = (P0*j + 1+P2) \mod N$ case 3: $i = (P0*j + N/2 + 1+P3) \mod N$

Comment:

This corrects a mistake in the previous formula. It also makes it easier to understand and compare with regard to the OFDMA Turbo Code.